ks e

Parts Catalog - Option Detail

Online

Option

Group

Graphic

Film Card

Date

WA1729

10.01.1

wa101gm

FF

11-JAN-00

(G855, G855 CM558, GTA855 CM558 (CM2358) G101, N14 CELECT, N14 CELECT PLUS, N14 MECHANICAL, NH/NT
Engines||855, QSM11 CM876 M101, QSM11 CM876 M102M, QSN14 CM876 N103, QSN14 CM876 N105, QSNT14 CM876

N102
20 ™
\ : \
@ N E ha ) >3
i
y 9/ -~ %\%ﬁ* /@
187 23 -
7 // 19 / |
- ~
30
19 —=
SMALL | MEDIUM | LARGE
View My Cart

WA1729

Aftercooler Water Plumbing

Aftercooler plumbing around

rear of engine block for



https://qsservices.cummins.com/qshd/feedback.php?productid=1
javascript:swap_img('wa101gm','/rtgraphics/english/parts/wa/1/wa101gm_sm.png');
javascript:swap_img('wa101gm','/rtgraphics/english/parts/wa/1/wa101gm_md.png');
javascript:swap_img('wa101gm','/rtgraphics/english/parts/wa/1/wa101gm_lg.png');

industrial N14 STC and Celect

using jwac. Without engine

mounted coolant heater.

1 AK 4022 MS Flexible Hose

2 AK 4025 MS Flexible Hose

3 S 117 Hexagon Head Cap Screw 3/8 - 16 x 3/4 in.
4 S 190 Hexagon Head Cap Screw 5/8 - 18 X 1 Inch.
5 S 223 Heavy Hexagon Nut 3/8 - 16 UNC

6 S 602 Plain Washer 3/8in.

7 S 603 Lock Washer 5/8 in.

8 S911B Pipe Plug 1/8 NPT

9 67950 Clip #16

10 68139 Male Adapter Elbow 1/8 NPTF X 7/16 - 20 (90).
11 68910 O-Ring Seal

12 70802 Female Pipe Tee

13 100269 Clip

14 108722 Clip

15 113710 Tube Brace

16 3006182 Captive Washer Cap Screw 3/8 - 16 X 7/8 Inch.
17 3011342 Captive Washer Cap Screw 1/4 - 20 x 3/4 in.
18 3011716 Captive Washer Cap Screw 3/8-16 x 1 3/8 in.
19 3026806 Hose Clamp 13/8-13/4in.
20 3050667 O-Ring Seal

21 3067950 Plug Retainer

22 3069098 Cover Plate Gasket

23 3095642 Water Transfer Tube

24 3095802 Water Outlet Connection

25 3096689 Water Tube Bracket

26 3175773 Male Adapter Elbow

27 3411869 Connection Retainer




28 3411873 Water Inlet Tube
29 3411874 Water Outlet Tube
30 3818271 Plain Hose



https://quickserve.cummins.com/qs3/qsol/terms.html
https://quickserve.cummins.com/qs3/qsol/system_requirements.html

